

Intrusul

$(\sqrt{98} - 2\sqrt{50} + \sqrt{32}) : \frac{1}{\sqrt{2}}$	$\left(0, (3) + \frac{\sqrt{25}}{\sqrt{15^2 - 12^2}}\right)^{-1}$	$\frac{6}{\sqrt{2}} - \sqrt{8} + \frac{10}{\sqrt{50}}$
$\sqrt{48} - \sqrt{75} + \sqrt{27} + 2 - \sqrt{3} - 2 $	Media aritmetica a numerelor $x = \sqrt{3} + 1$ si $y = \sqrt{3} - 1$ este	$\sqrt{3} + \sqrt{12} - 3\sqrt{3}$
$\frac{1}{\sqrt{2}} + \frac{2}{\sqrt{8}} + \frac{3}{\sqrt{18}} + \frac{4}{\sqrt{32}}$	$\sqrt{2} + \sqrt{8} - 3\sqrt{2}$	$\left(\frac{42}{\sqrt{98}} - \sqrt{3^2 + 4^2} + \frac{\sqrt{56}}{\sqrt{7}}\right) : 5 + \sqrt{2} - 3 $

Raspunsuri

- A) 0 B) $\frac{9}{8}$ C) 2 D) $\sqrt{3}$ E) $2\sqrt{2}$